
TV LIFT KIT
INSTALLATION INSTRUCTIONS

&
USER MANUAL

nce.com.au

READ THIS MANUAL BEFORE INSTALLATION

Model: NCE2018





Contents:

A x 1 B x 1 C x 4 

4mm 5mm

M6x16 M8x12 M8

D x 4 E x 4 F x 1 G x 1

H x 1 I x 1 J x 1 K x 1 L x 1 M x 1 N x 1

A. 4mm Hex Key
B. 5mm Hex Key
C. M6 x 16mm Screw
D. M8 x 12mm Screw
E. M8 Nut
F. TV Mounting Bracket
G. Connecting Bracket (Pre-assembled)
H. Lift Column

I.  Base Plate
J. RF Remote Control
K. Control Box
L. Wired Programable Remote Control
M. 12V to 28V Converter
N. AC Adaptor
O. Top Bracket (Pre-assembled)
P. Spare Screws

F

G

H

I

J
K

L M

N

1

O x 1 P

SPARE 
SCREWS

O



Installation Steps:
1. Assemble the TV Mounting Bracket (F) and the Connecting Bracket (G)
using M8x12 (D) screws and M8 (E) Nuts as shown in the below image.
NOTE: Connecting Bracket (G) has been Pre-assembled to Column (H)

2

G

F

D

E



Installation Steps:
2. Fix the Lift Column (H) onto the Base Plate (I) using M6x16 (C) screws 
as shown in the below image.

3

I

H

C



Installation Steps:
3. Top Bracket (O) and the Connecting Bracket (G) have been Pre-assembled. 

4

O

H

F

C



5

Wiring Instructions:

12Volt DC Connection.
Connect the 12V-28V Converter (M) to the Control Box (K), connect the 
Wired Programable Remote Control (L) to the Control Box (K) and then 
connect the Lift Column (H) to the Control Box (K)
Now connect the Red Wire from the 12V-28V Converter to Positive (+)12V  and 
connect the Black Wire to Negative (-) 12V.

12V-28V Converter

Programable Remote

Control Box Lift Column

RED (+) Positive

Black (-) Negative

240Volt AC Connection.
Connect the AC Adaptor (N) to the control Box (K), connect the Wired 
Programable Remote Control (L) to the Control Box (K) and then connect the
Lift Column (H) to the Control Box (K)
Now plug in the AC Adaptor (N) to mains power.
 

Control Box

Programable Remote

Lift Column

AC Adaptor



6

Operating Instructions:

Wired programable Remote Control.

Step 1. When first connected, press and hold the down (˅) button until a beep 
             sounds. This resets the TV Lift.

Step 2. Find your lowest desired height by pressing and holding the UP (˄) 
             button and then press the S button followed by the 1 button. 
             This would be your set lowest desired setting.

Step 3. Find your highest desired height by pressing and holding the UP
             (˄) button and then pressing the S button followed by the 2 button.
             This would be you set Highest desired setting.

Repeat Steps 2 and 3 if you require two other height settings.
All your desired settings are now set.

- Press button 2 for the TV Lift to reach your desired Highest (Up) setting
- Press button 1 for the TV Lift to reach your desired Lowest (Down) setting
- Press button 3 & 4 (if programmed) to reach your desired settings

 



7

Operating Instructions:

RF Remote Control.

Slide out Battery cover on the back of the Remote Control and insert the 
supplied Battery

Up Button      - Press this to reach highest TV Lift height
Stop Button   - Press to stop the TV Lift at any height
Down Button - Press to reach lowest TV Lift height

CAUTION: DO NOT PRESS THE UP BUTTON IF YOU HAVE ANY OVERHEAD
CUPBOARDS WITHOUT PRESSING THE STOP BUTTON BEFORE REACHING
CUPBOARDS



8



9



DISTRIBUTED BY NCE :

34-48 Stanley Drive, Somerton, Vic 3062
Tel: 1300 366 024

Email: sales@nce.com.au
Web: nce.com.au


